Bz L e A8 1008 ERFT (FLFL) 43 83340

] 1 FIRB AT AR LT B
%9:%3%92(4ﬁ?ﬂ)
ARER
(1) 2 5%% > 540204 > % 100 4 o (2) 5B T L ERE T TP AT5L -
1. After plotting demand for five periods, a manager has concluded that a trend-adjusted exponential

smoothing model is appropriate to predict future demand. Use data of the first five periods to
develop the model, then forecast for periods 6 through 9. o = 0.4 and = 0.3.
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The manager of X company has developed an aggregate forecast:
Month 1 2 3 4 5 6 7 total

Forecast 50 39 53 72 46 42 48 350

Use the following information to develop aggregate plans.

Regular production cost $60 per unit Overtime production cost  $90 per unit
Subcontracting cost $110 per unit Regular capacity 40 units / month
Overtime capacity 8 units / month Subcontracting capacity 12 units / month
Holding cost $10 per unit per period  Back-order cost  $20 per unit per period

Beginning and ending inventory 0 units

Develop an aggregate plan by using regular production and supplement by inventory, overtime, and
subcontracting as needed. No backlogs allowed. Compute the total cost (including production costs,

holding costs, and back-order costs) and please try to minimize the total cost.
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